0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVIl %XGDIRNL ~I
ZHIHVEIPpO\HIV] i PRIV
ZHIHVEIPPO\
9iJy -iQRVQp
9iJy -1QRVQPHY +yQDS DIl &VRSRUN EW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
_pVPINLX D s
+8 6=e. (6) (+e59E5 6C
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
1$(
dplpY 1$( €éW]IHVHQ
RV JiU DNI pUt
—XIDIpNHV] i PROIV
6101
+v0ODS
+8) (85
6]HPPINHY pUpNHIPV 1$C 6Dl IXIDIpN
1S 6D 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
wC 6Dl (WD ~XIDIpN
%( &VRSRUI BBBBBBBBBRBBBBE BBBBBBBBERE BBBBBBBBBR
_UTHIpY
6liIXV]
+DYL IHIHVIIP O\
YRIJDRP , +8)
SIHQV]  .[IGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDipN
9E*T -E1261e 3 *B: % *5% 1 (
9E*T -E1261e 3 *$:- % *5% = (
9E*T -E1261e 3 *B: % *5 = (
9E*T -E1261e 3 *$:- % *5% = (
9E*T -E1261e 3 *B: % *5 = (
6=3$%1T 6E1"251e 3 *$:- % *5% = (
9E*T -E1261e 3 *B: % *5 = (
9E*T _$7$/,1 3 *H: % *5% = (
OE*T _$7%/,1 3 *B: % *5% 1 (
*(6=/(5 *<gl*<, 3 *H: % *5% = (
*<85,8=$ %(L1&( 3 %z ot *5% 1 (
/€9%, =68=6$11% 3 *$: ot *5% = (
.25026 $11$0E5,$ %$5%$55 3 o= *5% 1 (
YRIDRP ,, +8)
SIHQV] . [IGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %JUIiWV —XIDIpN
-R]il -iQRVOp
.2=E5$1,.T 3 *$: % *5%: (
-~IK\ =RIIiQQp
.26=(*9E5< $1"5E6 3 *B: % *5% = (
3plHU 1yUD *DEY
6]HQIHV 614VLD 3 *B: % *5% = (

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

9iJy -iQRVQp



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~W
$iQV] . JNIG|S 6]HU]EGE (I\VpJ  7ISXV  7DWID  7DUIDP  %LJW 1w -XIDIpN
6]HPHIL 6iQGRU
6=(0(7, *(5*2 3 *$z * *5% = (
9iJy -iQRV *\R]
3$3 6E1"25 3 *$z % *5% = (
QgVV]HVLIHI pUipN
DRUDIRP , (85
$iQVv] -G]S 6]HU]EGE (3\VpJ  7ISXV  7DUWID  7DUDP %]V IiuV -XNDOpN
DRUIDIRP ,, (85
$iQVv] -G]S 6]HU]EGE (J\VpJ  7ISXV  7DWID  7DUIDP  %l]WViuw -XHDOpN
9iJy -iQRV *\R]
3$3=62/7 3 *$: (& *5%: (
3$3=62/7 3 *$:- (& *5% = (

QVVIHVEIHIN pUipN

$] HV] i PROi VWD) NDSFVRIDIRV UHNIDP i FLyNDI NpUi N tUiVEDQ D] HIV] i PRIV NpTKH]YpiHIpi] 0 V1i PiRM

KpIHQ EH) 0 D] O,& WRGiEDQ (HDGQL

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

9iJy -iQRVQp



